
 

DATA INTERPRETATION AND LOGICAL REASONING-Set 2-Questions 

Answer the questions based on the information below. 
  

A group of five boys - A, B, C, D and E and five girls - P, Q, R, S and are standing in 

rows facing each other (not necessarily in the stated order). The group of girls is 

facing north. 

  

E is not standing at any of the ends. C is immediately to the right of B and D is 

immediately to the left of A. Moreover, A is facing P. The number of girls between P 
and Q is the same as those between R and S. R and S are not facing either B or D. 

Finally, A is second to the left of B. 

  

1. Which pair of boys is standing at the ends of the boy's row ? 

  

•           A. C and D 
•           B. A and B 

•           C. B and D 

•           D. Inadequate data 

  

  

2. Which of the following is definitely true ? 

  

•           A. C is facing S 
•           B. E is facing R 

•           C. C is to left of E 

•           D. Q is facing B 

  

  

3. Who is standing immediately to the right of A ? 

  

•           A. E 
•           B. C 

•           C. D 

•           D. B 

  

4. Who is facing D ? 

  

•           A. T 

•           B. R 

•           C. S 
•           D. Q 

•  
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